Wednesday, 29 September 2021

Focus on... Mathematics

~

In 1988, the space shuttle Discovery was launched,
marking a resumption of NASA’s space
shuttle programme, which had been suspended
following the Challenger explosion in 1986.

One grain of wheat can produce eight
or more heads with over 40 seeds
per head. A single grain makes about
20,000 particles of flour.

On this day...
Did you know...

S
4 N Estimate how many grains of wheat would be in\
this field.
If you added up all the house numbers from your
street, what would the total be?
N W, W,

Click to play The Krishna Avanti Podcast , . . .
To see more from our ‘Focus on...’” series, visit http:/avanti.org.uk/kapsleicester/focus-on/



http://avanti.org.uk/kapsleicester/focus-on/
https://avanti.org.uk/kapsleicester/podcasts/

